Q. 1. Represent the following numbers on the abacus.
(a) 1368247 (b) 5670193 (c) 13758492 (d) 40009281

Q. 2. Write the numbers represented by abacus.
@TL L TThTh H T O b)C TL L TThTh H T O

8 | | | L
b |3 116 | 1 o[y ]

(c)TLL TThAhTh H T O

2

foror
G
O
U
<o
o




"W W WS W T e e

Ssl.u,t'w of Exercise 1.1
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(a) 5301104 (b) 21310500 (c) 2030100
(a) 45,62,178 : Forty five lakh sixty two thousand one hundred seventy eight.
(b) 7,43,00,125 : Seven crore forty three lakh one hundred twenty five.
(c) 31,30,841 : Thirty one lakh thirty thousand eight hundred forty one.
(d) 9,81, 14,026 : Nine crore eighty one lakh fourteen thousand twenty six.



